INDEPENDENT PRACTICE
16)

The graph shows a function.
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Which equation represents a function with a rate of change that is less than the rate of

change of the function shown in the graph? Select all that apply.

A y=2x-4
:—Sau

B 3x+1
=3,

C vy 5% 1

D y=x+3
=X

E y—2+5

16)

Samantha begins her road trip with 30 gallons
of gasoline in the tank of her van. Her van

For each verbal description, write in the correct equation from the choices provided.

gets 25 miles to the gallon. Let y represent the

number of gallons of gasoline in the tank after
x miles of travel.

Evan has a cell phone plan that costs $30 per

month and $0.25 per minute of phone use. Let y
represent the monthly cost of cell phone service

y =30 + 0.25x
=30 —. %

y=30-2
=25 - X

y=25-3¢

y =25+ 0.30x

after x minutes of phone use.




17)

The rates for two homework help services are shown below.

Homework SOS
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Part A

Which service has the greater rate of change? Which has a greater mmal value? Describe what
this means in the context of the problem.

Show your work.

Answer

Part B

What would be the total cost for setting up an account and receiving 90 minutes of
homework assistance at each company?

Show your work.

Answer____




THINK PAIR SHARE -

(he equation and table show what two boys pay for gym fees.
Compare the rate of change and initial value for each function.

Alfredo Alex
Month | © 1 2 3 c=25+ ’1 om,
Cost | 20 | 30 | 40 | 50 where ¢ = cost

and m= number

Show your work. Sfmonths:

Solution; _ _ N

Without graphing these functions, what do you know about the graphs of the lines
based on the rate of change for each function? How do you know?

GROUP WORK

,Justm andjoe are b1k1ng downhﬂl
]ustm starts 500 feet ahead of ]oe |
and travels at a rate of 44 feet per -

_i secand Joe s rate 15 shown in the
graph. After 1 minute, who will

be farther down the hill?
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HINT: Write the equations to help you solve the problem

50 60




Roy wants to buy a new wireless phone for $200. Two stores offer
different payment options. Which plan has a greater initial value?
Which plan has a greater rate of change?

Store A Payment Plan Store B Payment Plan
- 150 e e S

. Pay $50 3t the time of |
R BN purchase. Pay $20 per
2 100 \“\ month untilthe .~
g 5 \ phone is paid for.
E gl N
g 25

0 1 2 3 4 5 6
Week

Show your work.

Which statement about these equations is true?
EquationAty =3x + 4

EquationB:y =5x+ 2

A Equation A has a greater rate of change.

B Equation A has a greater initial value.

C Equation B has a greater initial value.

D Both equations have the same initial value.

Ben chose C as the correct answer, How did he get that answer?




